®99.63

REE T /KETFEX

$=1:50

TS90° RV F N=1
VP ®100
SAEAE1536

BHEFEP $30x2, $40x1

(FRAZET)
\R > 7 o 0
(FRARMET XBERFIA)

®99.12 /

BEER R > 7 il i B

[CET X5 =)
EKEE 100,
[CET S5 =)

B

TS45° RV K N
VP ¢100

TS90° R K N=1 ,“
VP ¢ 100 e
SR AR 722 e \
IR
o
TS90° RVE N=1 1Y \
VP ¢100 \
TS22° /28 F N=1 T
10722 V P ¢ 100 ‘
Il VE=a
361 10000 36 T;E g8
TS0 Ry K N=1 |
LN
| NN
SIS
o I bl
§ 82
Y Nawllr
N2
|
A ﬂ_t\
VP ¢ 100
| -

==

s

T+ T

L=1.0m
(FHE#Y0.6

A
X=503. 832 Y=490. 189

I
X=509. 845 Y=493.773

2 BRENY KR
2 (FRABBL)
o
~3 >
S g3 &R
B®v oRTLKRY T (D) El—l‘g o
EBIL “o-F B IR FHR R
_ O — — £ = = — ERFTEK
S TS KUK N=I S
. VP $100 = .
el 361y KI5USREE ﬂéﬁ
1550 ‘567 100 e g
A DEUEEOEIE. HORERH EFARHLELOTHS,
_ TAKEFHE (L TELN) EREBR (9100 t25) 2T LD ET B,
FABREEEE (VP 6100 HEREME. BEERECL Y ERTH L,
L=45.Tm
T RAEE
S I ¥4 | REASHEBRECES
I — \ TRTAEEBBRIS
IEES
W1
- S ‘ H=99. 134m W | maR HARNE
‘ J | T — 00000 Y=500.000) - IETER | AR B T 5
- | .
e e R B —— BEAS ERFAEFEE
e ® R =
REES 4 E2m 1




1 8% T 7K 38 4 b T (X 1

TS90° AUF N=1

A—AEMERX

$=1:50

4510

361,

1175 361

VP @100

DL=99. 000

T822° 1/2RV F N=1

VP ¢100

DL=99. 000

VP ¢ 100

B—BiakmEX

TS45° AU F N=1

563 13]
3 8

TS45° Ry K N=I
VP $100

TSS90 AV F N=1

TS90° Ry K N=I
VP $100

REBBREFEP @65

FRAERE
I % % | HABMSERREICHS
XRTKEEBRBRISE
IEES
IR | FEARF BRI SRR
HEES 1 8% T K B 4 B i B 1
e R B R
REES 4 E2R 2




1 8% T 7K 38 1 b 1 (X1 2

$=1:20
C—CtammE
11000
9700
1000 X 1000 X 1000 850 1000 1000 1000
4 [100x50x5x7.5 INEZEE S §25 RRTFKEE
L=0. 2m V P ¢ 100 N
05 05
e e s
< TSI Ry F N=1
f/}{ 1T r r r T r r r r r TS
TSI AYK N=I \ 9 EEAAY KA R b
- TRy E ) o
o VP 6100 H [o ) BILEZLERG100x 625 MR H300% 300 10 15 = 15900 Au K N1 S
B ‘ S L=3. Om (1L BB #4) P m_) VP $100
o i MR H300x 300X 10X 15 e r_ ;
2 ‘ L=3. On (W& #) 247 H400 x 400 x 13 x 21 / % l/
| 8 - e /’E%ﬁs 3/ S
—_ \ / =0. 456m, m g A S 3
8 i \. / {
DL=99. 000 :
\ 000 B : 7 LR NN s
i RG-40 t=0.T5m . / RC-40 £=0.35m A2 omd/m
D : /
TS0 Ay K N=1/] N s 1000
VP $100 : .
N v/
N ] [ 7
N /
N /
N 7
S s
S s
N /
: <.
t“’? <d\g
1050 | 600 3500 800 1650 400 g
8100
D— D&M EEK THEFHER 103
T
BEkHR PL 22x914x 1829 }
. LR H300x 300x 10x 15 |
& Lo
BBTANE L=3. On (I #) |
R A ™ | J
UL+ 100AF VP 3100 24 [100x50x5x7.5 h &
L=0. 2m | ) >
4 H400 X 400 x 13 x 21 4 g
Iil().()m m \\TI / m m m x
— - — — — —— — — 5 | a3
S E BikiR PL 22x914x1829 o o o o o § § X
2 H300x 300X 10x 15 — S
o On (L&) =
8
g 4 HA400 x 400 x 13 x 21 ‘ b
@ £=10. 0m | -
5 % \\\ BN % | X
' <
i ERHUEE
[ —, IF 4% | GEBSEBRECHS
| EWTFAEEBBRIE
‘ IXES
‘ WETERT | SRR 2 5 A T A e
A
| HEES BB T AR I EE2
i ® R =
914 HEES 4 EZR 3




REXTAKEL THEE

$=1:20
s s [
A [~
B+ T BELT CELXT DELT j=fau
A
I & s A e
1 Hl 1iE Hl HE Al 1 Hl 1 Hl
AsHIRL =50 AsHIEL t=30 AsHUEL t=30 AsHIEL t=30
833 743 701 773 713
3 S 2 o
3
823 737 695 767
i a E & s 8 E
S s 3 2 - ~ s 2 z
A B —l it P4 > < =
o = = 8
E o gl = g g AT
550
550
550
550
550
fg;ﬁfiﬁ;ﬁ;z;;{lg tzf;)o REI BEFBHE7ZX2U13 t=30 REI BEBHMET7ZXA13 t=30 REI BEFHMETR13 t=30
E REERE - t= TERERHBET BEY S v v—3F URC-40 t=100 TEERHBET BEYSvLv—3URC-40 t=100 TERET EU5v3 J: = v 2
B B v v —3 URC-40 =100 YY v —3F URC-40 t=
BT mano Dm0 0 BEISYY v TEBRBT BEY5viv—35URC-40 =100
833
743 701 713 713
3 8 8 53
823 8 g & &% g & g 8 g
2 o 2 S, 2
< 675
793 8 H s
o 3 - I~ < g
B = 3 o R =
753 2 = e & 2 3
S B | > AL =1 - =
I = - | I = S
2 < b - i< =
°| i sl 3 =i S =&
R e —— =
mAL = & 5 S
613 =4 550 > =
- & 550
I B l - 550 5
<~ <=
- &
g 550
550
PUa—| :_l_
HEHER
AELT 1.6+0.9 BELT CELXT DELXT EELT
I piitid BT P
3 o u e L1 Gk
omLYHE 25mYUHE 10mHYHE 19mBYHE 10mHYHE 1.0m% Y g 10mBYHE 48mBYHE 10mLYHE 5.6mLYHE
. _ I I I
FERTFT | As20cmBL T m [10x 2= | 2000 50 | 10x2= | 2000 38 | 10x2= | 2000 20 | 10x2= | 2000 9.6 | 0.00 0.0 204
‘ ! . .
t t t
N 5 I I I i i
FERWRT | Asi5emBl T m2| 0.833x10= ! 8.33 2.1 | 0.743x10= ! 7.43 14 | 0701x10= ! 7.01 07 | 0773x10= | 7.73 3.7 | 0.00 0.0 79
| | ’
f f f f
. _ I I i
AsBERLS T m3| 0.833%0.05x% 10= ! 042 0.1 | 0.743%0.03x 10= ! 0.22 00 | 0.701x0.03x 10= | 021 00 | 0.773%0.03x 10= | 0.23 0.1 | 0.00 0.0 02
I I I ] ]
T T T T
. _ | | | i
fEHT m3 | (0.823+0.550)/2 X 1.364 x 10= ! 9.36 23 | (0.737+0.550)/2 X 0.934 x 10= ! 6.01 1.1 | (0.695+0.550)/2 % 0.726 X 10= ! 452 05 | (0.767+0.550)/2 X 1.084x 10= | 7.14 34 | (0.713+0.550)/2% 0.814x 10= | 5.14 29 10.2
| |
T T T T
® _ | | T
EEBET m2| 0.550x10= ! 5.50 14 | 0550 10= | 5.50 1.0 | 0550x10= | 550 06 | 0550%10= | 5.50 26 | 0.550x10= | 5.50 3.1 8.7
| | | ] ]
T T T T ‘
5 - o | I
BERT BAL m3| {(0.613+0.550)/2 % 0.314-0.010}x 10= ! 1.73 0.4 | [(0.613+0.550)/2% 0.314-0.010}x 10= | 173 03 ! 0.00 00 | [(0.613+0.550)/2 % 0.314-0.010}x 10= | 1.73 0.8 | [(0.613+0.550)/2 X 0.314-0.010}x 10= | 1.73 1.0 25
! I | .
1 1 1 1 i
= 5 - | |
#RT FAL m3 | (0.753+0.613)/2X0.70 10= } 478 1.2 | (0.717+0.613)/2%x 0.52 % 10= | 3.46 07 | (0.675+0.550)/2% 0.626 x 10= | 383 04 | (0.747+0.613)/2X0.67 % 10= | 4.56 22 | (0.693+0.613)/2%0.40 X 10= | 261 15 6.0
: i ‘ 1
. _. | | | | }
TREBEET BEYSYY¥—5URC-40 t=200/ m2 | 0.793x 10= | 7.93 2.0 | 0.00 0.0 | 0.00 0.0 | 0.00 0.0 | 0.00 0.0 2.0 FRUEE
} } } } | I % % | HABMSERREICHS
S —_ = = s 0
TRE®T BEY5YY¥—5URC-40 t=100| m2 } 0.00 0.0 | 0.737x10= } 7.37 14 | 0695x10= } 6.95 0.7 | 0.767x10= } 7.67 37 | 0713x10= } 713 4.0 9.8 HRTAEERBRLE
Il Il Il Il | i ]
e | | | | | IEES
LREBET HIERAERAM-40 t=150 m2| 0.823x10= } 8.23 2.1 } 0.00 0.0 } 0.00 0.0 } 0.00 0.0 } 0.00 0.0 2.1 -
I I I I ! i _ =3 =3 3 B
- ‘ ‘ I BIER | FAMRHBRARESE®RR
®ET BEBHET7 ROV =50 m2| 0.833x10= } 8.33 2.1 } 0.00 0.0 } 0.00 0.0 } 0.00 0.0 } 0.00 0.0 2.1 -
‘ ! ! . X ! X . ] _ K ]
! I ! ! HEmES RBETKELTEER
| |
RET BEFHETRAU13 =30 m2 I 0.00 0.0 | 0.743x10= I 743 14 | 0.701x10= } ‘ ‘
. X . . . . = 7.01 07 | 0.743x10= | .
1 1 1 1 7.43 36 ! 0.00 0.0 5.7 ® R 2 5
VP ¢ 100D B EH§:0.114 % 0.114X% 71 ~4=0.010 ‘
HEES 4 E2R 4




